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NAME........................................................................................ADM NO............CLASS..............
TERM 2 END-TERM EXAM 2011
MATHEMATICS FORM 3
PAPER 2
TIME: 2½ HRS

INSTRUCTIONS: ANSWER ALL QUESTIONS

1) Use logarithms tables to evaluate								(3mks)

6.49 x 0.006329
      Tan 69.210



















2) Given that   2√3     -   √3   = a + b√c, Find the values of a, b, and c.			(3mks)
2 + √3     2 - √3












3) Make q the subject of the formula							(3mks)

r =     p – q
         p + pq













4) Simplify completely.									(2mks)

3x2 - 1   -    2x + 1
x2 – 1         x + 1














5) Simplify the expression									(3mks)

        4x2 – 9y2
2x2 + 5xy + 3y2







6) a) Solve for x: 	45x ÷ (23x)2 = 256							(3mks)















b) Simplify   23 x 25 ÷ 2-3									(1mk)










7) a) Find the gradient of a line passing through the points A (4, 8) and B (12, 0)		(1mk)









b) Find the equation of a line perpendicular to line AB.					(2mks)








c) Find the angle that line AB makes with the X-axis.					(2mks)











 
8) Find the value of x leaving your answer as mixed fraction.				(3mks)

log43 - ½ log4 (2x - 5)  =  3/2
















9) When a shopkeeper sells articles at shs 24.05 each, he makes a profit on the cost price. During a sale he reduces the price of each article to shs 22.95. Calculate the percentage profit on an article sold and the sale price.							(3mks) 











10) Nakuru and Webuye are 240 km apart. A lorry left Nakuru at 10.45 am for Webuye at an average speed of 60km/hr. On the same day a van left Webuye at 11.50 am for Nakuru at an average speed of 80km/hr. Determine the time they met.				(3mks)













11) Given that     x + y = 8
     x2 + y2 = 34
Find the value of

a) x2 + 2xy + y2									(1mk)







b) 2xy											(2mks)








12) If P varies directly as R and inversely as the square of Q, find the percentage change in P if R increases by 40% and Q decreases by 36%.						(3mks) 







13) a) Find the sum of the first 20 terms of the series. Leave your answer in Logarithm form. Log2 + log4 + log8 + log16 + .............							(3mks)


















14) In the figure below, O is the centre of the circle. Chords AB and CD intersect at X. CX = 8cm, XD= 5cm and XB = 4cm. Find the value of AX.					(3mks)
























15) i) Expand (2 + x)6									(1mk)












ii) Using the expansion upto the fourth term, solve (1.98)6 correct to 4 d.p.		(3mks)
















16) Find the range value of x that satisfies the inequality: 3x-2≥-5<-1-2x			(2mks)















SECTION B

17) In the figure below E is the midpoint of AB, OD: DB=2:3 and F is the point of intersection of OE and AD.











a) Given that OA = a and UB > b, express in terms of a and b i) UE (ii) AD		(2mks)








b) Given further that AF = +AD and UF = SUE find the volume of S and t		(5mks)

















c) Hence show that U, F and E are collinear.						(3mks)



18) Mr. Omondi is a salaried civil servant. He earns a basic monthly salary of shs.52,640,  a house allowance of shs. 18,800 p.m and medical allowance of shs. 7800 p.m. He claims a family relief of shs. 1162 p.m. He pays shs. 300 per month and 2% of his basic salary towards water bills and NHIF respectively. He is also serving a SACCO loan of which he is paying Kshs. 12,350.

Calculate his net pay salary in Kshs. using the tax rate shown in the table below.     (10mks)

	Monthly income in Kshs.
	Rate in Kshs per £

	1 – 10,164
	2

	10,165 – 19,740
	3

	19,741 – 29,316
	4

	29,317 – 38,892
	5

	Over 38,892
	6


































19) The diagram below shows a bucket with top radius 35cm and bottom radius 21cm. The height of the bucket is 30cm. Find;













i) Volume of the bucket.







ii) The total surface area of the bucket.						(10mks) 






















20) Town B is 180km on a bearing of 0500 from town A. Another town is on a bearing of 1100 from town A and on a bearing of 1500 from town B. A fourth town D is 240km on a bearing of 3200 from town A. Without using a scale drawing calculate to the nearest kilometer.

a) The distance AC									(4mks)


















b) The distance CD									(4mks)

















c) The distance BC									(2mks)




21) In the figure below O is the centre and PS is a diameter of the circle. QR is parallel to PS. If angle PSQ is 250 and angle POT is 1200, find the sizes of the five angles giving reasons












a) ∟Ange QRT										(2mks)





b) ∟TRP											(2mks)





c) ∟PRQ											(2mks)





d) QPT											(2mks)





e) ∟PQR											(2mks)





f) ∟PTR											(2mks)                                                                     
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